Do NOT use a calculator
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Nice and easy
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42 +6=7
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7X2=14

4x27 =108

14 + 26 = 40

(5/12) x 108 = 45

40X 12 =480

45 -9 =36

480 = 60 =8

36 X 4 = 144

8x2=16

(7/18) X 144 = 56

16 + 4 =4

56 + 16 = 72

4X5=20

(5/12) x 72 = 30

20 x 19 = 380

30 X 14 = 420

Answer = 380

(5/100) X 420 = 21

& Answer = 21

Challenging

96

(87.5/100) X 96 =
84

84 — 18 = 66

66 x 25 = 1650

(30/100) x 1650 =
495

495 X2 =990

(30/100) X 990 =
297

207 X 2 = 504

594 + 6 = 600

(37.5/100) X 600 =
225

Answer = 225
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